Boris wonders as he walks...

Which is largest?
6x5+4 or 4x10+2

Boris is strolling along when he finds some money a
human must have dropped when walking. I'll hand it
in to the Ranger.

He says,
‘There’s a 50 pence, two times 20p, two

times 10p, a 5p and a 2p. That’s £1.07 in
total.’

Is Boris correct?

Intended Learning:
* Use the multiplication (x), division (+) and equals (=) signs to read
and write mathematical statements
Recognise and use symbols for pounds (£) and pence (p);
recognise coins
and notes of different values; combine amounts to make a
particular value
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